INTERNATIONAL JOURNAL OF RESEARCH IN **COMMERCE & MANAGEMENT**



A Monthly Double-Blind Peer Reviewed (Refereed/Juried) Open Access International e-Journal - Included in the International Serial Directories

Index Copernicus Publishers Panel, Poland with IC Value of 5.09 & number of libraries all around the world.

Circulated all over the world & Google has verified that scholars of more than 1771 Cities in 148 countries/territories are visiting our journal on regular basis.

CONTENTS

| Sr. No. | TITLE & NAME OF THE AUTHOR (S) | Page No. |
|------------|---|-------------|
| 1. | ECONOMIC ANALYSIS OF SAFFRON PRODUCTION IN IRAN | 1 |
| 2. | DR. MASSOUD KHEIRANDISH, M. V. SRINIVASA GOWDA & DR. SAJAD ABDULLAH SARAF WHY CONSISTENCY OF ACCOUNTING STANDARDS MATTERS: A CONTRIBUTION TO THE PRINCIPLES -VERSUS - RULES DEBATE IN FINANCIAL REPORTING | 5 |
| 3. | DR. FISSEHA GIRMAY TESSEMA EVALUATING THE FINANCIAL SOUNDNESS OF SELECTED COMMERCIAL BANKS IN SRI LANKA: AN APPLICATION OF BANKOMETER MODEL ANAMA AT HAS AND BORD BANKOMETER OF SELECTED COMMERCIAL BANKS IN SRI LANKA: AN APPLICATION OF BANKOMETER | 12 |
| 4. | NIMALATHASAN, B., BALAPUTHIRAN, S & PRIYA, K A STUDY ON FDI IN SULTANATE OF OMAN | 15 |
| 5. | BOARD SIZE, CHIEF COMPLIANCE OFFICER AND FINANCIAL PERFORMANCE OF BANKS IN NIGERIA | 19 |
| 6. | A STUDY ON EMPLOYEE JOB SATISFACTION IN CONSTRUCTION COMPANIES IN VIETNAM | 23 |
| 7. | FACTORS INFLUENCE FINANCIAL DECISIONS UNDER THE PYRAMID OF NATURAL CONSTRAINTS | 28 |
| 8. | A STUDY ON UNPRINCIPLED SELLING PRACTICES TOWARDS THE PHARMACEUTICAL INDUSTRY IN INDIA | 31 |
| 9. | JOB STRESS & EMPLOYEE BURNOUT: AN OVERVIEW | 35 |
| 10. | DEEPIKA SHARMA & DR. M. L. GUPTA THE CONSUMER BEHAVIOR TOWARDS PACKAGE OF COSMETICS HEMAPATIL & DR. B BAKKAPA | 38 |
| 11. | NPA MANAGEMENT IN PUBLIC SECTOR BANKS: A STUDY OF CANARA BANK AND STATE BANK OF INDIA K. V. RAMESH & A. SUDHAKAR | 42 |
| 12. | A STUDY ON CONSUMERS PERCEPTION TOWARDS GREEN PACKAGING INITIATIVES WITH REFERENCE TO CONSUMERS IN PUDUKKOTTAI DISTRICT DR. S. SOLAIAPPAN & S. PALANIAPPAN | 50 |
| 13. | THE EMPIRICAL EVIDENCES OF SLOWDOWN OF FDI INFLOW IN INDIA SINCE 2009 PEARLY JERRY | 55 |
| 14. | CORPORATE REPORTING - ITs IMPACT ON INDIVIDUAL INVESTORS DR. P. SAIRANI & ANNIE KAVITA | 62 |
| 15. | KNOWLEDGE MANAGEMENT STRATEGY AND ACTION PLAN FOR SUCCESSFUL IMPLEMENTATION C. RAMANIGOPAL | 67 |
| 16. | HUMAN RESOURCE ACCOUNTING IN INDIA – QUANTIFICATION OF QUALITATIVE FACTORS OF EMPLOYEES DR. A. CHANDRA MOHAN, S C RAJAN DANIEL & DR. N. KISHOREBABU | 70 |
| 17. | THE IMPACT OF ADVERTISING APPEALS ON CUSTOMER BUYING BEHAVIOR GUNJAN BAHETI, DR. RAJENDRA KUMAR JAIN & NIDHI JAIN | 75 |
| 18. | ASSESSMENT OF LIQUIDITY IN INDIAN PHARMACEUTICAL INDUSTRY – A STUDY K. PADMINI & C. SIVARAMI REDDY | 79 |
| 19. | LIQUIDITY MANAGEMENT: AN EMPIRICAL STUDY OF CUDDAPAH SPINNING MILLS LIMITED, KADAPA (AP) N. VENKATA RAMANA | 83 |
| 20. | INTRAPRENEURSHIP AND ORGANIZATIONAL KNOWLEDGE IN THE CORPORATE ENVIRONMENT: A THEORETICAL FRAMEWORK DR. LEENA JAMES | 89 |
| 21. | SUGAR INDUSTRY IN INDIA – AN OVERVIEW V. RAMESH BABU & DR. M. MADHUSUDHANA VARMA | 93 |
| 22. | PEPPER PRODUCTION TREND IN INDIA: AN OVERVIEW DR. P. CHENNAKRISHNAN | 101 |
| 23. | FINANCING STRATEGIES FOR SMEs IN INDIA – A WAY OUT AMITESH KAPOOR | 104 |
| 24. | BRAND LOYALTY- A MEASURE DR. Y. JAHANGIR | 112 |
| 25. | ANALYSIS OF LIQUIDITY, PROFITABILITY AND WORKING CAPITAL MANAGEMENT - AN EMPIRICAL STUDY ON BSE LISTED COMPANIES HUMA KHAN | 116 |
| 26. | COMPLAINTS MANAGEMENT IN BANKS: AN AID TO CUSTOMER SATISFACTION DR. HARPREET KAUR KOHLI | 120 |
| 27. | PERFORMANCE MANAGEMENT: A HOLISTIC REQUIREMENT FOR ORGANIZATIONS DR. RAJNI SINGH | 124 |
| 28. | WORK EFFICIENCY ACQUISITION: AN IMPERATIVE NEED FOR HUMAN RESOURCE PROFESSIONAL DR. L. N. ARYA & SATYAM PINCHA | 128 |
| 29. | RETENTION AND SATISFACTION OF CONSUMERS: A STUDY OF UNIVERSITY OF JAMMU ANJU THAPA | 132 |
| 30. | CUSTOMER SATISFACTION TOWARDS VARIOUS FACILITIES PROVIDED BY PUBLIC BANKS (A COMPARATIVE STUDY OF PNB AND SBP IN JIND DISTRICT, HARYANA) ANJU BALA | 136 |
| | REQUEST FOR FEEDBACK | 142 |

CHIEF PATRON

PROF. K. K. AGGARWAL

Chancellor, Lingaya's University, Delhi
Founder Vice-Chancellor, Guru Gobind Singh Indraprastha University, Delhi
Ex. Pro Vice-Chancellor, Guru Jambheshwar University, Hisar

FOUNDER PATRON

LATE SH. RAM BHAJAN AGGARWAL

Former State Minister for Home & Tourism, Government of Haryana Former Vice-President, Dadri Education Society, Charkhi Dadri Former President, Chinar Syntex Ltd. (Textile Mills), Bhiwani

CO-ORDINATOR

DR. SAMBHAV GARG

Faculty, M. M. Institute of Management, MaharishiMarkandeshwarUniversity, Mullana, Ambala, Haryana

ADVISORS

DR. PRIYA RANJAN TRIVEDI

Chancellor, The Global Open University, Nagaland

PROF. M. S. SENAM RAJU

Director A. C. D., School of Management Studies, I.G.N.O.U., New Delhi

PROF. M. N. SHARMA

Chairman, M.B.A., HaryanaCollege of Technology & Management, Kaithal

PROF. S. L. MAHANDRU

Principal (Retd.), MaharajaAgrasenCollege, Jagadhri

EDITOR

PROF. R. K. SHARMA

Professor, Bharti Vidyapeeth University Institute of Management & Research, New Delhi

CO-EDITOR.

DR. BHAVET

Faculty, M. M. Institute of Management, MaharishiMarkandeshwarUniversity, Mullana, Ambala, Haryana

EDITORIAL ADVISORY BOARD

DR. RAJESH MODI

Faculty, YanbuIndustrialCollege, Kingdom of Saudi Arabia

PROF. SANJIV MITTAL

UniversitySchool of Management Studies, Guru Gobind Singh I. P. University, Delhi

PROF. ANIL K. SAINI

Chairperson (CRC), Guru Gobind Singh I. P. University, Delhi

DR. SAMBHAVNA

Faculty, I.I.T.M., Delhi

DR. MOHENDER KUMAR GUPTA

Associate Professor, P.J.L.N.GovernmentCollege, Faridabad

DR. SHIVAKUMAR DEENE

Asst. Professor, Dept. of Commerce, School of Business Studies, Central University of Karnataka, Gulbarga

DR. MOHITA

Faculty, Yamuna Institute of Engineering & Technology, Village Gadholi, P. O. Gadhola, Yamunanagar

ASSOCIATE EDITORS

PROF. NAWAB ALI KHAN

Department of Commerce, Aligarh Muslim University, Aligarh, U.P.

PROF. ABHAY BANSAL

Head, Department of Information Technology, Amity School of Engineering & Technology, Amity University, Noida

PROF. V. SELVAM

SSL, VIT University, Vellore

PROF. N. SUNDARAM

VITUniversity, Vellore

DR. PARDEEP AHLAWAT

Associate Professor, Institute of Management Studies & Research, MaharshiDayanandUniversity, Rohtak

DR. S. TABASSUM SULTANA

Associate Professor, Department of Business Management, Matrusri Institute of P.G. Studies, Hyderabad

TECHNICAL ADVISOR

AMITA

Faculty, Government M. S., Mohali

DR. MOHITA

Faculty, Yamuna Institute of Engineering & Technology, Village Gadholi, P. O. Gadhola, Yamunanagar

FINANCIAL ADVISORS

DICKIN GOYAL

Advocate & Tax Adviser, Panchkula

NEENA

Investment Consultant, Chambaghat, Solan, Himachal Pradesh

LEGAL ADVISORS

JITENDER S. CHAHAL

Advocate, Punjab & Haryana High Court, Chandigarh U.T.

CHANDER BHUSHAN SHARMA

Advocate & Consultant, District Courts, Yamunanagar at Jagadhri

SUPERINTENDENT

SURENDER KUMAR POONIA

d)

e)

2.

CALL FOR MANUSCRIPTS

We invite unpublished novel, original, empirical and high quality research work pertaining to recent developments & practices in the area of Computer, Business, Finance, Marketing, Human Resource Management, General Management, Banking, Insurance, Corporate Governance and emerging paradigms in allied subjects like Accounting Education; Accounting Information Systems; Accounting Theory & Practice; Auditing; Behavioral Accounting; Behavioral Economics; Corporate Finance; Cost Accounting; Econometrics; Economic Development; Economic History; Financial Institutions & Markets; Financial Services; Fiscal Policy; Government & Non Profit Accounting; Industrial Organization; International Economics & Trade; International Finance; Macro Economics; Micro Economics; Monetary Policy; Portfolio & Security Analysis; Public Policy Economics; Real Estate; Regional Economics; Tax Accounting; Advertising & Promotion Management; Business Education; Management Information Systems (MIS); Business Law, Public Responsibility & Ethics; Communication; Direct Marketing; E-Commerce; Global Business; Health Care Administration; Labor Relations & Human Resource Management; Marketing Research; Marketing Theory & Applications; Non-Profit Organizations; Office Administration/Management; Operations Research/Statistics; Organizational Behavior & Theory; Organizational Development; Production/Operations; Public Administration; Purchasing/Materials Management; Retailing; Sales/Selling; Services; Small Business Entrepreneurship; Strategic Management Policy; Technology/Innovation; Tourism, Hospitality & Leisure; Transportation/Physical Distribution; Algorithms; Artificial Intelligence; Compilers & Translation; Computer Aided Design (CAD); Computer Aided Manufacturing; Computer Graphics; Computer Organization & Architecture; Database Structures & Systems; Digital Logic; Discrete Structures; Internet; Management Information Systems; Modeling & Simulation; Multimedia; Neural Systems/Neural Networks; Numerical Analysis/Scientific Computing; Object Oriented Programming; Operating Systems; Programming Languages; Robotics; Symbolic & Formal Logic and Web Design. The above mentioned tracks are only indicative, and not exhaustive.

Anybody can submit the soft copy of his/her manuscript **anytime** in M.S. Word format after preparing the same as per our submission guidelines duly available on our website under the heading guidelines for submission, at the email address: infoijrcm@gmail.com.

GUIDELINES FOR SUBMISSION OF MANUSCRIPT

| CC | DVERING LETTER FOR SUBMISSION: DATED: |
|-----|---|
| | HE EDITOR RCM |
| Su | ubject: SUBMISSION OF MANUSCRIPT IN THE AREA OF . |
| (€ | e.g. Finance/Marketing/HRM/General Management/Economics/Psychology/Law/Computer/IT/Engineering/Mathematics/other, please specify) |
| DI | EAR SIR/MADAM |
| PI | ease find my submission of manuscript entitled ' |
| | nereby affirm that the contents of this manuscript are original. Furthermore, it has neither been published elsewhere in any language fully or partly, nor is it nder review for publication elsewhere. |
| I a | affirm that all the author (s) have seen and agreed to the submitted version of the manuscript and their inclusion of name (s) as co-author (s). |
| | so, if my/our manuscript is accepted, I/We agree to comply with the formalities as given on the website of the journal & you are free to publish our ontribution in any of your journals. |
| | AME OF CORRESPONDING AUTHOR: esignation: |
| | ffiliation with full address, contact numbers & Pin Code: |
| | esidential address with Pin Code: Obile Number (s): |
| | andline Number (s): |
| | mail Address: |
| Al | ternate E-mail Address: |
| N | OTES: |
| a) | The whole manuscript is required to be in ONE MS WORD FILE only (pdf. version is liable to be rejected without any consideration), which will start from the covering letter, inside the manuscript. |
| b) | The sender is required to mention the following in the SUBJECT COLUMN of the mail: New Manuscript for Review in the area of (Finance/Marketing/HRM/General Management/Economics/Psychology/Law/Computer/IT/ Engineering/Mathematics/other, please specify) |
| c' | There is no need to give any text in the body of mail, except the cases where the author wishes to give any specific message w.r.t. to the manuscript. |

Abstract alone will not be considered for review, and the author is required to submit the complete manuscript in the first instance.

MANUSCRIPT TITLE: The title of the paper should be in a 12 point Calibri Font. It should be bold typed, centered and fully capitalised.

The journal gives acknowledgement w.r.t. the receipt of every email and in case of non-receipt of acknowledgment from the journal, w.r.t. the submission of manuscript, within two days of submission, the corresponding author is required to demand for the same by sending separate mail to the journal.

AUTHOR NAME (S) & AFFILIATIONS: The author (s) full name, designation, affiliation (s), address, mobile/landline numbers, and email/alternate email

ABSTRACT: Abstract should be in fully italicized text, not exceeding 250 words. The abstract must be informative and explain the background, aims, methods,

The total size of the file containing the manuscript is required to be below 500 KB.

address should be in italic & 11-point Calibri Font. It must be centered underneath the title.

results & conclusion in a single para. Abbreviations must be mentioned in full.

- 5. **KEYWORDS**: Abstract must be followed by a list of keywords, subject to the maximum of five. These should be arranged in alphabetic order separated by commas and full stops at the end.
- 6. MANUSCRIPT: Manuscript must be in <u>BRITISH ENGLISH</u> prepared on a standard A4 size <u>PORTRAIT SETTING PAPER</u>. It must be prepared on a single space and single column with 1" margin set for top, bottom, left and right. It should be typed in 8 point Calibri Font with page numbers at the bottom and centre of every page. It should be free from grammatical, spelling and punctuation errors and must be thoroughly edited.
- 7. **HEADINGS**: All the headings should be in a 10 point Calibri Font. These must be bold-faced, aligned left and fully capitalised. Leave a blank line before each heading.
- 8. SUB-HEADINGS: All the sub-headings should be in a 8 point Calibri Font. These must be bold-faced, aligned left and fully capitalised.
- 9. MAIN TEXT: The main text should follow the following sequence:

INTRODUCTION

REVIEW OF LITERATURE

NEED/IMPORTANCE OF THE STUDY

STATEMENT OF THE PROBLEM

OBJECTIVES

HYPOTHESES

RESEARCH METHODOLOGY

RESULTS & DISCUSSION

FINDINGS

RECOMMENDATIONS/SUGGESTIONS

CONCLUSIONS

SCOPE FOR FURTHER RESEARCH

ACKNOWLEDGMENTS

REFERENCES

APPENDIX/ANNEXURE

It should be in a 8 point Calibri Font, single spaced and justified. The manuscript should preferably not exceed 5000 WORDS.

- 10. **FIGURES & TABLES**: These should be simple, crystal clear, centered, separately numbered &self explained, and **titles must be above the table/figure**. Sources of data should be mentioned below the table/figure. It should be ensured that the tables/figures are referred to from the main text.
- 11. **EQUATIONS**: These should be consecutively numbered in parentheses, horizontally centered with equation number placed at the right.
- 12. **REFERENCES**: The list of all references should be alphabetically arranged. The author (s) should mention only the actually utilised references in the preparation of manuscript and they are supposed to follow **Harvard Style of Referencing**. The author (s) are supposed to follow the references as per the following:
- All works cited in the text (including sources for tables and figures) should be listed alphabetically.
- Use (ed.) for one editor, and (ed.s) for multiple editors.
- When listing two or more works by one author, use --- (20xx), such as after Kohl (1997), use --- (2001), etc, in chronologically ascending order.
- Indicate (opening and closing) page numbers for articles in journals and for chapters in books.
- The title of books and journals should be in italics. Double quotation marks are used for titles of journal articles, book chapters, dissertations, reports, working
 papers, unpublished material, etc.
- For titles in a language other than English, provide an English translation in parentheses.
- The location of endnotes within the text should be indicated by superscript numbers.

PLEASE USE THE FOLLOWING FOR STYLE AND PUNCTUATION IN REFERENCES:

BOOKS

- Bowersox, Donald J., Closs, David J., (1996), "Logistical Management." Tata McGraw, Hill, New Delhi.
- Hunker, H.L. and A.J. Wright (1963), "Factors of Industrial Location in Ohio" Ohio State University, Nigeria.

CONTRIBUTIONS TO BOOKS

Sharma T., Kwatra, G. (2008) Effectiveness of Social Advertising: A Study of Selected Campaigns, Corporate Social Responsibility, Edited by David Crowther & Nicholas Capaldi, Ashgate Research Companion to Corporate Social Responsibility, Chapter 15, pp 287-303.

JOURNAL AND OTHER ARTICLES

 Schemenner, R.W., Huber, J.C. and Cook, R.L. (1987), "Geographic Differences and the Location of New Manufacturing Facilities," Journal of Urban Economics, Vol. 21, No. 1, pp. 83-104.

CONFERENCE PAPERS

• Garg, Sambhav (2011): "Business Ethics" Paper presented at the Annual International Conference for the All India Management Association, New Delhi, India, 19–22 June.

UNPUBLISHED DISSERTATIONS AND THESES

Kumar S. (2011): "Customer Value: A Comparative Study of Rural and Urban Customers," Thesis, Kurukshetra University, Kurukshetra.

ONLINE RESOURCES

Always indicate the date that the source was accessed, as online resources are frequently updated or removed.

WEBSITES

Garg, Bhavet (2011): Towards a New Natural Gas Policy, Political Weekly, Viewed on January 01, 2012 http://epw.in/user/viewabstract.jsp

LIQUIDITY MANAGEMENT: AN EMPIRICAL STUDY OF CUDDAPAH SPINNING MILLS LIMITED, KADAPA (AP

N.VENKATA RAMANA ASST. PROFESSOR ANNAMACHARYA P.G.COLLEGE OF MANAGEMENT STUDIES RAJAMPET

ABSTRACT

This paper mainly focus on liquidity management of Cuddapah Spinning Mills Ltd, Kadapa (AP). This study tries to achieve the objective of finding relationship if any between liquidity and profitability with the help of Spearman's Rank Correlation. In this study the few financial ratios are calculated such as Current Ratio (CR), Quick Ratio (QR), Absolute Liquidity Ratio (ALR), Inventory turnover Ratio (ITR), Age of Inventory, Debtor Turnover Ratio (DTR), Average Collection Period, Working Capital Turnover Ratio (WTR), Current Assets Turnover Ratio (CATR) and Current Assets to Total Assets(CATA). This study utilized the database from 2001-02 to 2009-10 from the annual reports of Cuddapah Spinning Mills Limited, Kadapa (AP). The final results reveals excess current assets were invested, absolute liquidity ratio are not satisfactory and it not met the standard norm of 0.5:1, inventory turnover ratio was very high. There is a positive correlation between the liquidity and profitability. A few solutions are have been offered to ameliorate the problems such as optimum utilization of current assets to maintain the cash position properly to meet the liquidity of the firm and investment in inventory should be minimized.

KEVWORDS

Absolute Liquidity Ratio (ALR), Average Collection Period, Age of Inventory Current Ratio (CR), Liquidity and Profitability.

INTRODUCTION

iquidity refers to the ability to pay in cash the obligations that are due. In the absence of adequate liquidity, an enterprise is technically insolvent and at least faces the financial embarrassments of renegotiating its obligations to creditors. It may be defined as a firm's ability to realize value in money. In other words, liquidity is a firm's ability to meet its maturing obligations.

In relation to business the concept of liquidity has a multiplicity of definitions. In the words on Anthony and Reece, "liquidity refers to the company's ability to meet its current obligations". "Solvency" on the other hand, pertains to the company's ability to meet the interest costs and repayment schedules associated with its long-term obligations. In the words of Hampton, "liquidity means adequate cash in hand held by the firm to meet its obligations at all times". An enterprise must have certain level of cash above its expected needs to act as a reserve to meet emergencies. It should also be able to meet all its bills and to get all possible discount facilities available to for bulk purchases. The highest financial liquidity, the lowest risk of technical insolvency and vice versa.

LITERATURE REVIEW

To estimate loss rates and scheming quality of portfolio, a simple statistical tool by means of risk index was developed for risk measurement (Smith, 1964). Modigliani and Pogue (Modigliani, (1974)) presented two measure of risk; relative measure denoted by beta and measure of total risk denoted by standard deviation. Relying on monthly rate of return from 1945 to 1970 they established beta measure to be more significant for securities' pricing and predictable for great portfolios. (Doherty, 1975) Presented a model based on loss probabilities to show how the scope and level of interdependence connecting unusual ways of treating risk rely on the composition of quality in risk management.

(Ratti, 1980) found that dissimilarities in environment can cause positive (negative) income affect that show the way to fewer (extra) risk taking by banks. (Kim, 1988) Found capital ratios fruitless mean to limit bank's insolvency risk. (Deakins, 1994) argued that method of risk estimation has very important inferences for banker and business relationships and highlighted on investing both in time and resources through risk assessment process, (Metwally, 1997) found that while financing loans interest-free banks depend deeply on their equity, face extra complexity, and inclined to be fairly additional conservative in utilizing their loan able resources than conventional banks (Clementi, 2001). Presented an outline of the tendency in consolidation of the market, prior to reviewing present suggestions on new Basel Accord and on the bank's capital adequacy. The study highlighted the returning difficulty of liquidity and then presented some examination of fresh developments, predominantly in risk transfer method. The study stressed that modernism must be handled with some care, and found risk management as significant goal of financial system.

(Ghannadian, 2004) Observed the performance of an Islamic banks and how Islamic banking scheme can offer liquidity and support in the process of money creation from side to side contribution transactions accounts and found that in all developing economies investing funds on basis of profits and losses is an attractive choice for the banks. (Gabbi, 2004), Emphasized about the reliance of risks on organization's place in the market. The study explained that liquidity risk can be controlled in the course of practices that are severely connected to the scale and scope of financial measures, seeing as large banks are capable both to manage additional market information and to influence monetary policy functions. (Zheng H., 2006) Found that short-term yield spreads are dominated by liquidity risk. (Franck, 2007,2011) Found that securities market matter more in supporting bank for likely liquidity deficiency while studying the function of stock exchange as a similar function of and lender of last resort. Many dealers assert that extra liquid markets are superior to fewer liquid markets, (Mainelli, 2008) and found uniqueness of liquid markets are flexibility deepness and tightness.

(Zheng H. &., 2008) Stated that in the presence of liquidity risk more realistic loss can be estimated by liquidity adjusted conditional value at risk which provides a better measure for risk. And also suggested efficient Monte Carlo method: which applies to portfolio of securities or single securities, and finds approximate conditional value at risk and risk at value of all percentiles from the loss distribution with in single set of samples.

(Anas, 2008) Suggests that Islamic banks should strengthen their risk management practices such as, to enhance secondary market they need price transparency and liquidity. Moreover, they can trade Sukuks and Financial Takaful (insurance) as a medium of risk-hedging. (Hassan, 2009) Argues that three types of risks are being faced by Islamic banks in Brunei Darussalam such as, credit risk, foreign-exchange risk and operating risk, and they are managing those risks very efficiently with the help of risk management practices, which includes risk identification (RI) and risk assessment and analysis (RAA). (Dinger, 2009) proposed that in emerging economies, due to the existence of transnational banks aggregate liquidity shortage risk has been reduced, as in normal circumstances they are holding low liquidity assets but in crises they holds higher liquid assets as compared to single market banks.

(Vaihekoskia, 2009) Investigated that in the period of systematic liquidity risk (illiquidity) of those stocks which provides high rate of return were negatively related to the price of liquidity risk. Therefore, systematic liquidity risk is not priced as an asset-specific risk but as market-wide systematic risk as it is enough to occupy all liquidity related risks. (Uddin, 2009) Identified that there exists the negative relationship between liquidity and stock return, as stock become more illiquid the liquidity risk increases more than the relative rate, also indicate that return is not affected by the fluctuations in the relative stock liquidity.

(Ismal, "Assessment of liquidity management in Islamic banking industry". , 2010)Indicate that with respect to liquidity management, the Islamic banks in Indonesia are evaluating themselves on the basis of three factors such as, banks liquidity management policy, liability side and asset side, and they stands in the index of —good grade. (Ismal, "Strengthening and improving the liquidity management in Islamic banking"., 2010) Suggested that Islamic banks should improve their policies to balance liability and asset, communicate their operations and principles to public to deepen their understanding towards Islamic banks and restructure management of liquidity on asset and liability side in order to improve and strengthen their liquidity management

(Sawada, 2010) Investigated that in the times of crises, due to the liquidity shock persuaded by the depositors, banks increase their cash holdings by selling their securities in the financial market, not by liquidating their loans. As they adjust their portfolio dynamically through selling and buying their securities in financial

market. (Ojo, 2010) Emphasized on the significance of risks all the way through a position to the vital role engaged by capital adequacy. On the basis of Accord principles the study observed that beside substantial development, a lot work is yet to be done specifically relative to liquidity risk.

NEED FOR THE STUDY

Liquidity plays a crucial role in the satisfactory ongoing of a firm. Liquidity management has, thus, become a basic and broad aspect of judging the performance of a corporate entity. Liquidity should be neither excessive nor inadequate.

Excessive Liquidity is an indicator of idle funds, on the other hand, adversely affects the creditworthiness of the firm, interrupts the production process and hampers its earning capacity to a great extent. Thus, efficient Liquidity management has become essential for the smooth running of any business enterprise.

OBJECTIVES OF THE STUDY

The specific objectives of the study are:

- > To evaluate the liquidity management of the company through ratio analysis.
- > To examine the relationship between liquidity and profitability by using Spearman's rank correlation and also to test the significance of such correlation

HYPOTHESIS OF THE STUDY

HO: there exists no significant correlation between the liquidity and profitability of Cuddapah Spinning Mills Ltd.

| TOO | ıc | OF | ΔΝ | JΛ | I VI | IIC. |
|-----|----|----|-----|----|------|------|
| 100 | டஅ | UГ | All | | | LIJ |

| Current ratio: Current ratio is found out by dividing the amount of current assets by the amount of current liabilities. |
|---|
| Current assets |
| Current Ratio = Current liabilities |
| Quick ratio or Acid test ratio: Quick ratio is found out by dividing the amount of quick assets by the amount of current liabilities. |
| Quick ratio of Acid test ratio. Quick ratio is found out by dividing the amount of quick assets by the amount of current habilities. |
| |
| Quick Ratio = |
| Current liabilities |
| Absolute liquidity ratio: Absolute liquid ratio is found out by dividing the amount of absolute liquid assets (Cash, bank balance & Marketable securities) by the |
| amount of current liabilities. |
| Cash & bank balance + Marketable securities |
| Absolute liquidity Ratio = |
| Current liabilities |
| Inventory turnover ratio: Inventory turnover ratio is calculated by dividing the Cost of goods sold by the amount of Average stock. |
| Cost of goods sold |
| Inventory to sales Ratio = |
| Average stock |
| Age of inventory: Age of inventory is calculated by dividing the Number of effective days in a year by the Inventory turnover ratio. |
| No. of effective days in a year |
| Age of inventory = |
| Inventory turnover ratio |
| Debtors' turnover ratio: Debtors turnover ratio is calculated by dividing the amount of sales by the amount of debtors. |
| Sales |
| Debtors to sales Ratio = |
| Debtors |
| Age of debtors: Age of debtors is calculated by dividing the Number of effective days in a year by the debtors' turnover ratio. |
| Number of days in a year |
| Age of debtors = |
| Debtors' turnover ratio |
| Working capital turnover ratio: The working capital turnover Ratio is calculated by dividing the amount of sales by the amount of net working capital. |
| Sales |
| Working capital turnover Ratio = |
| Net working capital |
| Current assets turnover ratio: Current assets turnover ratio is calculated by dividing the amount of sales by the amount of Current assets. |
| Sales |
| Current assets turnover Ratio = |
| Current assets |
| Current assets to total assets ratio: Current assets to total assets Ratio is found out by dividing the amount of current assets by the amount of Total assets. |
| Current Assets Current Assets |
| Current assets to total assets Ratio = |
| |
| Total assets Current assets |
| Coefficient of rank correlation: An attempt has been made to study the extent of relationship between the liquidity and profitability. For this purpose, the rati |

of current assets to total assets has been used as the liquidity indicator and the ratio of return on capital employed has been taken as the profitability parameter.

$$R = 1 - \frac{6(\mathcal{E} d^2)}{n^3 - n}$$

d = difference in the ranks of individuals in the two characters

n = number of individuals

ANALYSIS AND FINDINGS

The table 1 shows the current ratio of Cuddapah Spinning Mills Ltd from 2001-to-2010. Current ratio is the relationship between current assets and current liabilities and shows the proportion of current assets available per unit of current liability. From the Table 1 it is inferred that current ratio is satisfied the standard ratio norm of 2:1 in all years except in 2001-02, 2002-03, 2004-05 and 2005-06 the rest of the years excess current ratio it implies that more investment is made in current assets. So, current assets were idle.

TABLE 1: CURRENT RATIO OF CUDDAPAH SPINNING MILLS LTD FROM 2001-02 TO 2009-10 (In rupees)

| TRATIO OF CODDATATISF INVINE WILLS ETD TROW 2001-02 | | | | | |
|---|---------|----------------|---------------------|---------------|--|
| | Year | Current assets | Current liabilities | Current ratio | |
| | 2001-02 | 38351673 | 26324726 | 1.45 | |
| | 2002-03 | 37046802 | 28103426 | 1.31 | |
| | 2003-04 | 34886586 | 11621086 | 3.00 | |
| | 2004-05 | 23966296 | 43784885 | 0.54 | |
| | 2005-06 | 39848938 | 24341623 | 1.63 | |
| | 2006-07 | 33454568 | 9273444 | 3.60 | |
| | 2007-08 | 41787791 | 5436783 | 7.68 | |
| | 2008-09 | 48321576 | 5621176 | 8.59 | |
| | 2009-10 | 50028938 | 5591317 | 8.94 | |

Source: annual reports from 2002-to-2010

Table no 2 represent the quick ratio. Quick ratio is a rigorous and penetrating measure of a firm's ability to meet the short-term liabilities. It is a widely used parameter of judging the short-term repaying ability of the firm in the near future. It excludes inventory and bank overdraft, which are difficult to realize at short notice. Thus, it can assess the liquidity position of a company more effectively. Normally, an ideal quick ratio of 1:1 is considered to represent a satisfactory current financial condition. From the table no 2 refers that quick ratio was least in 2004-05 and highest in 2009-10 overall excess quick ratios than standard ratio of quick ratio. Hence, excess investment is made in quick assets.

TABLE 2: QUICK RATIO OF CUDDAPAH SPINNING MILLS LTD FROM 2001-02 TO 2009-10 (In rupees)

| Year | Quick assets | Current liabilities | Quick asset ratio |
|---------|--------------|---------------------|-------------------|
| 2001-02 | 19379490 | 26324726 | 0.73 |
| 2002-03 | 19299917 | 28103426 | 0.68 |
| 2003-04 | 26429103 | 11621086 | 2.11 |
| 2004-05 | 14859476 | 43784885 | 0.33 |
| 2005-06 | 12489004 | 24341623 | 0.51 |
| 2006-07 | 11274756 | 9273444 | 1.21 |
| 2007-08 | 11330916 | 5436783 | 2.08 |
| 2008-09 | 19285356 | 5621176 | 3.43 |
| 2009-10 | 32872469 | 5591317 | 5.87 |

Source: annual reports from 2002-to-2010

Looking at the table 3 reveals the absolute liquidity of Cuddapah Spinning Mills Ltd. Absolute liquidity ratio establishes a relationship between absolute liquid assets and quick liabilities. It is a more rigorous test of the liquidity position of a company. A high absolute liquidity ratio is good from the creditor's point of view but from the management point of view, it indicates poor investment policy. In the table 3 it is observed that the absolute liquidity ratio was not satisfied standard ratio of absolute liquidity ratio i.e. 0.5:1 in all years except 2003-04. It means that not invested sufficient amount in cash and marketable securities. Since, the company not meets the liabilities of creditors.

TABLE 3: ABSOLUTE LIQUIDITY RATIO OF CSM LTD FROM 2001-02 TO 2009-10 (In rupees)

| Year | Absolute liquid assets | Current liabilities | Absolute liquidity ratio |
|---------|------------------------|---------------------|--------------------------|
| 2001-02 | 8165102 | 26324726 | 0.31 |
| 2002-03 | 8586827 | 28103426 | 0.30 |
| 2003-04 | 16542256 | 11621086 | 1.42 |
| 2004-05 | 770573 | 43784885 | 0.02 |
| 2005-06 | 1647279 | 24341623 | 0.06 |
| 2006-07 | 718691 | 9273444 | 0.07 |
| 2007-08 | 1058716 | 5436783 | 0.19 |
| 2008-09 | 968999 | 5621176 | 0.17 |
| 2009-10 | 1397194 | 5591317 | 0.24 |

Source: annual reports from 2002-to-2010

The table no 4 depicted the inventory turnover ratio of Cuddapah Spinning Mills Ltd from 2001-to-2010. The Inventory turnover ratio measures the velocity of conversion of stock into sales. Usually a high inventory turnover/stock velocity indicates efficient management of inventory because more frequently the stocks are sold; the lesser amount of money is required to finance the inventory. A low inventory turnover ratio indicates an inefficient management of inventory. A low inventory turnover implies over-investment in inventories, dull business, poor quality of goods, stock accumulation, accumulation of obsolete and slow moving goods and low profits as compared to total investment. The inventory turnover ratio is also an index of profitability, where a high ratio signifies more profit; a low ratio signifies low profit. Sometimes, a high inventory turnover ratio may not be accompanied by relatively high profits. Similarly a high turnover ratio may be due to under-investment in inventories. From the table no 4 states that inventory turnover ratio is less in all years except in 2004-05. It indicates that inefficient management of inventory, over investment is made in inventory, poor quality of goods, dull business.

TABLE 4: INVENTORY TURNOVER RATIO OF CSM LTD FROM 2001-02 TO 2009-10 (In rupees)

| Year | Cost of goods sold | Average stock | Inventory turnover ratio |
|---------|--------------------|---------------|--------------------------|
| 2001-02 | 13844853 | 8528802 | 1.62 |
| 2002-03 | 16195711 | 8590661 | 1.88 |
| 2003-04 | 18974905 | 6707534 | 2.82 |
| 2004-05 | 31554232 | 3339884 | 9.44 |
| 2005-06 | 53780998 | 11073184 | 4.85 |
| 2006-07 | 55972761 | 17456906 | 3.20 |
| 2007-08 | 39915264 | 19084404 | 2.09 |
| 2008-09 | 44531474 | 22521551 | 1.97 |
| 2009-10 | 35286317 | 21435257 | 1.64 |

Source: annual reports from 2002-to-2010

Table 5 present the age of inventory turnover ratio from the table it is inferred that the Age of inventory is very high in all years except in 2004-05. Generally the lower age of inventory is better the liquidity position and vice versa. 2004-05 is good when compared to other years as its age is very less compared to other years during the study period.

TABLE 5: AGE OF INVENTORY OF CSM LTD FROM 2001-02 TO 2009-10

| Year | No. of days in a year | Inventory turnover ratio | Age of inventory (days) |
|---------|-----------------------|--------------------------|-------------------------|
| 2001-02 | 365 | 1.62 | 225 |
| 2002-03 | 365 | 1.88 | 194 |
| 2003-04 | 365 | 2.82 | 129 |
| 2004-05 | 365 | 9.44 | 39 |
| 2005-06 | 365 | 4.85 | 75 |
| 2006-07 | 365 | 3.20 | 114 |
| 2007-08 | 365 | 2.09 | 175 |
| 2008-09 | 365 | 1.97 | 185 |
| 2009-10 | 365 | 1.64 | 225 |

Source: annual reports from 2002-to-2010

Table 6: The debtor's turnover ratio indicates the speed with which debtors are converted into cash. This ratio measures the rapidity or slowness of debtors' collection. Generally, the higher the turnover, the more efficient is the trade credit management. On the other hand, low debtors' turnover implies inefficient management of debtors' and less liquid debtors. From the table no 6 is observed that the debtors' turnover ratio is high in 2006-07 year compared to other years. Generally debtors turnover ratio is satisfactory level so more efficient credit management and more liquid debtors

TABLE 6: DEBTORS TURNOVER RATIO OF CSM LTD FROM 2001-02 TO 2009-10 (In rupees)

| Year | Sales | Debtors | DTR |
|---------|----------|----------|--------|
| 2001-02 | 26286788 | 3466393 | 7.58 |
| 2002-03 | 43852014 | 3623870 | 12.10 |
| 2003-04 | 37935599 | 1095476 | 34.62 |
| 2004-05 | 52584203 | 5425978 | 9.69 |
| 2005-06 | 80988831 | 1261936 | 64.17 |
| 2006-07 | 98078050 | 921732 | 106.40 |
| 2007-08 | 66743392 | 2029944 | 32.87 |
| 2008-09 | 71633690 | 10074101 | 7.11 |
| 2009-10 | 61268742 | 10373149 | 5.90 |

Source: annual reports from 2002-to-2010

Table no 7 shows the age of debtor of Cuddapaha Spinning Mills Ltd from the 2001-to-2010. The average collection period refers to the average time lag between sales and collection measurable in terms of number of days. It is a significant measure of the collection activity and quality of accounts receivables. A rule of thumb is that the collection period should not exceed 1/3 times the regular credit period. From the table no 7 states that the shorter collection period implies quick payment by debtors, it occurs in the years of 2003-04, 2005-06, 2006-07& 2007-08. Longer the payment period in the years of 2008-09&2009-10. Overall average collection period is satisfactory during the period

TABLE 7: AGE OF DEBTORS OF CUDDAPAH SPINNING MILLS LTD FROM 2001-02 TO 2009-10

| Year | No. of days in a year | DTR | Age of inventory (Days) |
|---------|-----------------------|--------|-------------------------|
| 2001-02 | 365 | 7.58 | 48 |
| 2002-03 | 365 | 12.10 | 30 |
| 2003-04 | 365 | 34.62 | 11 |
| 2004-05 | 365 | 9.69 | 38 |
| 2005-06 | 365 | 64.17 | 6 |
| 2006-07 | 365 | 106.40 | 3 |
| 2007-08 | 365 | 32.87 | 11 |
| 2008-09 | 365 | 7.11 | 51 |
| 2009-10 | 365 | 5.90 | 62 |

Source: annual reports from 2002-to-2010

The working capital turnover ratio measures the efficiency with which the working capital is being used by a firm. A high ratio indicates efficient utilization of working capital and vice versa. But a very high working capital turnover ratio may also mean lack of sufficient working capital which is not a good situation. Table no 8 indicates that the Working capital turnover ratio is fluctuating from year to year. It is higher in 2005-06 and lower in 2004-05. It shows inefficient utilization of working capital during the operation of the business.

TABLE 8: WORKING CAPITAL TURNOVER RATIO OF CSM LTD FROM 2001-02 TO 2009-10 (In rupees)

| Year | Sales (Rs) | Net working capital (Rs) | Working capital turnover Ratio |
|---------|------------|--------------------------|--------------------------------|
| 2001-02 | 26286788 | 12026947 | 2.18 |
| 2002-03 | 43852014 | 8943376 | 4.90 |
| 2003-04 | 37935599 | 23265500 | 1.63 |
| 2004-05 | 52584203 | -19818589 | -2.65 |
| 2005-06 | 80988831 | 15507315 | 5.22 |
| 2006-07 | 98078050 | 24181124 | 4.05 |
| 2007-08 | 66743392 | 36351008 | 1.83 |
| 2008-09 | 71633690 | 42700400 | 1.67 |
| 2009-10 | 61268742 | 44437621 | 1.37 |

Source: annual reports from 2002-to-2010

Table no 9 represents the current assets turnover ratio of Cuddapaha Spinning Mills Ltd from 2001-to-210. It is applied to measure the turnover and profitability of the total current assets employed to conduct the operations of the firm. The ratio is calculated by dividing the amount of sales by the amount of current assets. The idea behind the current assets turnover ratio is to give an overall impression of how rapidly the total investment in current assets is being turned. The lower the turnover of the current assets, the worse is the utilization of current assets. The higher the turnover, the better is the use of current assets. From the table no 9 it is inferred that the Current assets turnover ratio is fluctuating from year to year. Current assets are ranging between 1 to 3 times. The higher the turnover of current assets the better is the utilization of them.

TABLE 9: CURRENT ASSETS TURNOVER RATIO OF CSM LTD FROM 2001-02 TO 2009-10 (In rupees)

| CINCLIA POSE IS TORITOTER INTITO OF COMPETS TROM EDGE OF TO EGGS 10 | | | | | | | | |
|---|----------|----------------|-------------------------------|--|--|--|--|--|
| Year | Sales | Current assets | Current assets turnover ratio | | | | | |
| 2001-02 | 26286788 | 38351673 | 0.68 | | | | | |
| 2002-03 | 43852014 | 37046802 | 1.18 | | | | | |
| 2003-04 | 37935599 | 34886586 | 1.08 | | | | | |
| 2004-05 | 52584203 | 23966296 | 2.19 | | | | | |
| 2005-06 | 80988831 | 39848938 | 2.03 | | | | | |
| 2006-07 | 98078050 | 33454568 | 2.93 | | | | | |
| 2007-08 | 66743392 | 41787791 | 1.59 | | | | | |
| 2008-09 | 71633690 | 48321576 | 1.48 | | | | | |
| 2009-10 | 61268742 | 50028938 | 1.22 | | | | | |

Source: annual reports from 2002-to-2010

The table no 10 shows the current assets to total assets ratio of Cuddapaha Spinning Mills Ltd from the 2001-to-2010.Increasing Current Assets to Total Debt ratio is generally a positive sign, showing the company has a better ability to satisfy its debt obligations using its total current assets. A ratio of 1.0 or greater indicates the company would just meet its debt obligations, when in reality the company would need a ratio result that is higher than this, as some of the current assets could not easily be converted into cash. Table no 10 refers that current assets to total assets ratio is very less during the analysis period so the company not using current assets in proper way and not satisfy the debt obligations.

TABLE 10: CURRENT ASSETS TO TOTAL ASSETS RATIO OF CSM LTD FROM 2001-02 TO2009-10 (In rupees)

| Year | Current assets | Total assets | Current assets to total assets Ratio | | |
|---------|----------------|--------------|--------------------------------------|--|--|
| 2001-02 | 38351673 | 196544442 | 0.19 | | |
| 2002-03 | 37046802 | 201811688 | 0.18 | | |
| 2003-04 | 34886586 | 218207224 | 0.15 | | |
| 2004-05 | 23966296 | 130758311 | 0.18 | | |
| 2005-06 | 39848938 | 164495311 | 0.24 | | |
| 2006-07 | 33454568 | 164495311 | 0.20 | | |
| 2007-08 | 41787791 | 172389165 | 0.24 | | |
| 2008-09 | 48321576 | 172389165 | 0.28 | | |
| 2009-10 | 50028938 | 172389165 | 0.29 | | |

Source: annual reports from 2002-to-2010

Table no 11 depicted the rank correlation between the liquidity and profitability of Cuddapaha Spinning Mills Ltd and an attempt have been made to judge the significance of the relationship by using the t-test. For this purpose the ratio of current assets to total assets has been used as the liquidity indicator and the ratio of return on capital employed has been taken as the profitability parameter. It is found that there is a significant correlation is exist between liquidity and profitability (r=0.583) which is significant at 0.05 level. To test the null hypothesis t-test have been used from the results it is inferred that the computed value of t=1.8995 is less than the critical value of 't' (3.499) at 5% level of significance. Hence, the null hypothesis have been accepted, which signifies there exists no significant relationship between the liquidity and profitability of the company

TABLE 11: RANK CORRELATION BETWEEN LIQUIDITY AND PROFITABILITY OF CSM LTD.

| Year | Current assets to total assets (%) | Liquidity rank (r1) | Return on capital employed (%) | Profitability rank (r2) | (r1-r2) d | d ² | | | |
|---------|------------------------------------|---------------------|--------------------------------|-------------------------|-----------|----------------|--|--|--|
| 2001-02 | 19 | 6 | -37.03 | 8 | -2 | 4 | | | |
| 2002-03 | 18 | 7.5 | -10.35 | 6 | 1.5 | 2.25 | | | |
| 2003-04 | 15 | 9 | -13.17 | 7 | 2 | 4 | | | |
| 2004-05 | 18 | 7.5 | -106.70 | 9 | -1.5 | 2.25 | | | |
| 2005-06 | 24 | 3.5 | 0.37 | 4 | -0.5 | 0.25 | | | |
| 2006-07 | 20 | 5 | 12.99 | 1 | 4 | 16 | | | |
| 2007-08 | 24 | 3.5 | 1.93 | 3 | 0.5 | 0.25 | | | |
| 2008-09 | 28 | 2 | 6.80 | 2 | 0 | 0 | | | |
| 2009-10 | 29 | 1 | 0.14 | 5 | -4 | 16 | | | |

 $E d^2 = 45$

$$\mathbf{R} = 1 - \frac{6(\mathcal{E}d^{2} + \mathcal{E}(t^{3} + t)/12)}{n^{3} - n}$$

$$\mathbf{R} = 1 - \frac{6(45+5)}{9^{3} - 9}$$

$$\mathbf{R} = 1 - \frac{300}{720}$$

$$\mathbf{R} = 1 - 0.416$$

$$\mathbf{R} = 0.583$$

$$\mathbf{T-TEST}$$

$$t = \frac{R^{1}}{\sqrt{1 - R^{1^{2}}}} \times \sqrt{n - 2}$$

$$t = \frac{0.583}{\sqrt{1 - (0.583)^{2}}} \times \sqrt{9 - 2}$$

$$t = \frac{0.583}{\sqrt{0.6602}} \times 2.6457$$

$$t = \frac{0.583}{0.812} \times 2.6457$$

$$t = 1.8995$$

SUGGESTIONS

- 1. The company not maintains the standard ratio of 2:1 in between Current assets and Current liabilities. So, the company maintains 2:1 proportionate in between current assets and current liabilities to avoid the shortage and excess current assets and current liabilities.
- 2. Made excess investment in quick assets, it leads to idle quick assets. Hence, the company takes necessary steps to control the excess investment in quick assets.
- 3. The company invest sufficient amount in cash and marketable securities to meet the liabilities of creditors
- 4. To more emphasis on inventory management for the purpose of optimum investment in inventory and improve the quality of goods.
- 5. Utilization of working capital is inefficient during the operations of the business. So those utilize working capital properly and effectively during the operations of the business.

CONCLUSION

Managing liquidity is a fundamental component in the safe and sound management of firm finance. Sound liquidity management involves prudently managing assets and liabilities (on- and off-balance sheet), both as to cash flow and concentration, to ensure that cash inflows have an appropriate relationship to approaching cash outflows. The study investigate the relationship between the liquidity and profitability of Cuddapaha Spinning Mills Ltd during years from 2001-to-2010. In this study various ratios are calculated to find out the relationships between the liquidity and profitability the results are shows that liquidity has not have a significant influence on the profitability of the company.

REFERENCES

- 1. Anas, E. &. (2008). "Managing Risks and Liquidity in An Interest Free Banking Framework: The Case of The Islamic Banks". International Journal of Business and Management, 80-95.
- 2. Clementi, D. (2001). "Financial Markets: Implications for Financial Stability". B A L A N C E S H E E T, , 9 (3), 7-12.
- 3. Deakins, D. &. (1994). "Risk Assessment with Asymmetric Information". International Journal of Bank Marketing, , 24-31.
- 4. Dinger, V. (2009). "Do Foreign-Owned Banks affect Banking System Liquidity Risk?". . Journal of Comparative Economics, 647–657.
- 5. Doherty, N. A. (1975). "Some Fundamental Theorems of Risk Management". The Journal of Risk and Insurance, , 447-460.
- 6. Franck, R. &. (2007, 2011). "Liquidity Risk and Bank Portfolio Allocation". International Review of Economics and Finance, Interdisciplinary Journal of Research in Business, 1 (1), 60-77.35-44.
- 7. Gabbi, G. (2004). "Measuring Liquidity Risk in A Banking Management Framework". Managerial Finance, (30), 44-58.
- 8. Ghannadian, F. F. (2004). "Developing Economy Banking: The Case of Islamic Banks". International Journal of Social Economics, 740-752.
- 9. Hassan, A. (2009). "Risk Management Practices of Islamic Banks of Brunei Darussalam". The Journal of Risk Finance, 23-37.
- 10. Ismal, R. (2010). "Assessment of Liquidity Management in Islamic Banking Industry". International Journal of Islamic and Middle Eastern Finance and Management, 147-167.
- 11. Ismal, R. (2010). "Strengthening and Improving The Liquidity Management in Islamic Banking". Humanomics, 18-35.
- 12. Kim, D. &.-1. (1988). "Risk In Banking and Capital Regulation". The Journal of Finance, 1219-1233.
- 13. Mainelli, M. (2008). "Liquidity 5 Diversity". . The Journal of Risk Finance, 211-216.
- Metwally, M. (1997). "Differences Between The Financial Characteristics of Interest-Free Banks and Conventional Banks". European Business Review, 92-98.
- 15. Modigliani, F. &. ((1974)). "Introduction to Risk and Return: Concepts and Evidence". Financial Analysts Journal, 69-86.
- 16. Ojo, M. (2010). "Risk Management by The Basel Committee: Evaluating Progress Made from The 1988 Basel Accord to Recent Developments". Journal of Financial Regulation and Compliance, (18), 305-315.
- 17. Ratti, R. A.-3. (1980). "Bank Attitude Toward Risk, Implicit Rates of Interest, and The Behavior of An Index of Risk Aversion for Commercial Banks". The Quarterly Journal Of Economics, 309-331.
- 18. Sawada, M. (2010). "Liquidity Risk and Bank Portfolio Management in A Financial System Without Deposit Insurance: Empirical Evidence from Prewar Japan". International Review of Economics and Finance, 392–406.
- 19. Smith, P. (1964). "Measuring Risk on Consumer Instalment Credit". Management Science, II (2), 327-340.
- 20. Uddin, M. H. (2009). "Reexamination of Stock Liquidity Risk with A Relative Measure". . Studies in Economics and Finance, 4-35.
- 21. Vaihekoskia, M. (2009). "Pricing of Liquidity Risk: Empirical Evidence from Finland". Applied Financial Economics, 1547 1557.
- 22. Zheng, H. (2006). "Interaction of Credit and Liquidity Risks: Modelling and Valuation". Journal of Banking & Finance, 391-407.
- 23. Zheng, H. &. (2008). "Jump Liquidity Risk and Its Impact on Cvar". The Journal of Risk Finance, 477-491.



REQUEST FOR FEEDBACK

Dear Readers

At the very outset, International Journal of Research in Commerce and Management (IJRCM) acknowledges & appreciates your efforts in showing interest in our present issue under your kind perusal.

I would like to request you to supply your critical comments and suggestions about the material published in this issue as well as on the journal as a whole, on our E-mail i.e. infoijrcm@gmail.com for further improvements in the interest of research.

If you have any queries please feel free to contact us on our E-mail infoijrcm@gmail.com.

I am sure that your feedback and deliberations would make future issues better – a result of our joint effort.

Looking forward an appropriate consideration.

With sincere regards

Thanking you profoundly

Academically yours

Sd/-

Co-ordinator

ABOUT THE JOURNAL

In this age of Commerce, Economics, Computer, I.T. & Management and cut throat competition, a group of intellectuals felt the need to have some platform, where young and budding managers and academicians could express their views and discuss the problems among their peers. This journal was conceived with this noble intention in view. This journal has been introduced to give an opportunity for expressing refined and innovative ideas in this field. It is our humble endeavour to provide a springboard to the upcoming specialists and give a chance to know about the latest in the sphere of research and knowledge. We have taken a small step and we hope that with the active cooperation of like-minded scholars, we shall be able to serve the society with our humble efforts.







